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— 2.50 Dimethyl Sulfoxide-d6

N N
Internal standard = 20.2 mg
Sample = 19.9 mg
OMe
H H Molar ratio = (1.06/1)/(3/3) = 1.06 wt% = 87%
MeO OMe %P of standard = 1

MW of sample = 136.19

H
\ MW of standard = 168.19
NHsample

H Molar ratio = [ Tord ]

NHgeq

Isample

mgsed X MWsample Xmolar ratio XPscq

wt% = X 100

mgsample X MWsed

1 9.361
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2.50 Dimethyl Sulfoxide-d6
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[ / [ / Internal standard = 16.3 mg
OMe Sample = 14.9 mg
H H
Molar ratio = (1.08/1)/(3/3) = 1.08 wt% =
MeO OMe 96%
H
%P of standard = 1
MW of sample = 136.19
H H H MW of standard = 168.19
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H H . ”Hsanl:ple
Molar ratio = *—+
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NHgrq
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